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3. Multiple Alleles

Multiple alleles control the coat color or rabbits. A gray color is produced by a

dominant allele C. The C™" allele produces a silver-gray color when present in the
homozygous condition, C™"C*", called chinchilla. When C" is present with a
recessive gene, a light silver-gray color is produced. The allele C" is recessive to both
the full-colored allele and the chinchilla allele. The C"allele produces a white color
with black extremities. This coloration pattern is called Himalayan. An allele C* is
recessive to all genes. The C?allele results in a lack of pigment, called albino. The
dominance hierarchy is C > C™> C" > C®. The table below provides the possible
genotypes and phenotypes for coat color in rabbits. Notice that four genotypes are
possible for full-color but only one for albino.

a.

Phenotypes Genotypes

full color Cc, cc*™, cc", cC?
chinchilla cohce

light gray ce'ch, ¢ et
himalaya c'c", ¢'c

albino cxc?

Indicate the genotypes and phenotypes of the F; generation from the mating of
a heterozxgous Himalayan-coat rabbit with an albino-coat rabbit.
C, \ G,  ————u —

b G cres
| ChCs \ Qe
\ himaleme '\ aloino
The mating of a full-color rabbit with a light-gray rabbit produces two full-

colored offspring, one light-gray offspring, and one albino offspring. Indicate
the genotypes of the parents.

C Q> x e~

Qe CCS-
CooN
0™ - light 8%
CC=- clone
A chinchilla-color rabbit is mated with a light-gray rabbit. The breeders know

that the light-gray rabbit had an albino mother. Indicate the genotypes and
phenotxpds of the F; generation from this mating.

QN
Coh & | Qchcc\\: lcchcq

| chwnchilla ( 11‘131/\& gany




chw C,PC«O
2. If a silk worm having a white body is crossed with a worm having a pink body, the F;
Cw (¢ Wworms are all peach-colored bodies. From this evidence alone, what phenotypes and
ratios would you expect to find if these crosses:

a. whit\j cr&ssed v\i/,ith white
AV CWew .
“ ol (v, ke

b. white crossed with peach CW (w
chw X CWeP v Y(uc'w (o \ (w W - \ o e
o leleel ek Lok

c. pink crossed with pink
CPCP x Q¥

O\ CPCP, PN

d. pink crossed with peach Qf ¥
e | coer oL
\ Pk 2 | peach

e

3. Yellow guinea pigs crossed with whﬁ‘tyécévﬁes always produce cream colored offspring.
a. Diagram this cross and give genotypes and phenotypes R

O\ Q'
o\l ¢creaen

b. Two cream colored guinea pigs when crossed produce offspring in the F;
generation. Give the ratios of the F, genotypes and phenotype

(@4 Cw

| ey Qe | e
\q@mnNMﬁwﬂqu

c. Explain the inheritance pattern of color in guinea pigs.

\o\evxc\\‘f\j (iokor mecticde)



4. In short horn cattle, red coat color is incompletely dominant over white, to give roan.
A breeder of short horn cattle has cows which are white and a bull which is roan.
What proportion of the calves produced will be white? roan? red?

(R wor o o
Q&
Q\J

5. Starting with a roan bull and white cows, how could you eventually establish a true
breeding red herd? white herd?

Qod: bread hlos's t)\,\}.}:" (D CRQW xR cLdC WA AR Mg

(o)

| LW \rocn O fted

(® CRC2 x Qe @ e %
D CLew x 0200 R
@ (R Ry (R

W )
6. When chickens with splashed white eath%rs are crossed with blacc'k eathered birds,
their offspring are all slatg blue. When slate blue are crossed among themselves, they
produce splashed white, slate blue and black in the ratio of 1:2:1 respectively.

a. How are these feather traits inherited?
Weendo }V\\'U' e clicXa
b. Using any appropriate symbols, indicate the genotypes for each phenotype.
g=e™ CSC®  (Qucp
Lohive Yade  PYwe

7. In mink, homozygous brown coat is incompletely dominant over silver giving silver
blue. CoCe CsCs
Cees
a. If two heterozygous mink are crossed what fraction of the offspring will be
brown? silver? silver blue?

ee (s
e |eseoeec
es 10| 0|

| BDown &l Blver ! o Yiverblue

b. If there were 12 offspring, how many of each phenotype would be expected?
2 brown - 3ailver | 6 silvr bue



7. A husband and wife have normal vision, although both of their fathers were color
blind, which is inherited as a sex-linked recessive condition. What is the probability

that their first child will be: Xb \) X X bX\g

s A Y 1
a. anormal son? W

Lo a5 e s e
N IRY XY

b. anormal daughter?

2‘. :_L Or 50%
Y P

¢. acolor-blind son?

g = 88%
d. acolor blind daughter?

O/ Chonce Bnce No NoMozyss Tecessive .

8. In Drosophila, a sex-linked recessive mutation, scalloped (s), causes irregular wing
margins. Diagram the Fy and F; results if:

a. ascalloped female is crossed with a normal male

% X® Y3 .
X >§ XY sy Vo O Xa\‘ Y3 HS*%! *‘sx&\
Yy ey ey ARSI

b. ascalloped male is crossed with a normal female
XU XY XS‘ A =
FooOORNOREE XSXERY
Y IRY Y




4. Blood Typing

1. Indicate the blood types possible for the mating of a male who is blood type O with a
female of a blood type AB.
= 18

e ] oo L T TR
]| P VRIE

2. a. Could a male with blood type AB ever have a child%with blg_gg type AB? Explain.
. v o & ©
Bes\ \Qhﬂﬁtﬁlb&“‘\ a\‘QO(- [_?"ﬁ L Ay
Ab e AB. ™ ey e e

somle Famae agchpen'. ™ e I«p{ TO[THL® T
Q‘m b v i sl Ll W g e L Pl RV T .

b. Could a male with blood type AB ever have a child with blood type O? Explain.

NO ~ €aca Porent Must 6 as\ \e Wadoorgeus for Head e

O Peccurse b Is A receessive treat

3. Could a man with type O blood have a child that was type B?

Jes. 1€ he treece Lo & Boncle Mok e o Hee Bllassing
xpnobypes TP T3 ST

4. Four babies were born in a hospital on a night in which an electrical blackout
occurred. In the confusion that followed, their identification bracelets were switched.
Conveniently, the babies are of four different blood groups O, A, B and AB. The four
pairs of parents have the following blood groups: O and O, AB and O, A and B, and
B and B. Which baby belongs to which parents?

Beb(:) Yarents
O O+ 0
AN AL S O

B LoD
AR A B



Suppose a father of type A blood and a mother of type B blood have a child of type O

blood. What blood groups are possible in their subsequent children?

ché\:i&ﬁcb&ﬁ\'Nmi P&))i\ ) -0

..
THTATY T
LT L

A father with type B blood and a mother with type O blood have a child with type O

blood. What are the chances that their next child will be type O? type B?

SO/ hypc © + SO/ byec®

i L L
TH| TR | TR0
‘k ' L,L ‘L‘\

Suppose a father and mother claim they have been given the wrong baby at the

hospital. Both parents are type A, but the baby they have been given is type O. What
conclusions could be made in such a situation? If the baby had been type B what
conclusions could be made?

\5\ e
W .
o\ | _-E-_A 8
1.@. '[A'[A IA L
[OR I SNV B
268
R
LW T !
L T
27 IA

B poets
hpe A Lgnsiy

R)ob'ai\d.o b \hoave

codd o \ruhroz.®ms (or Yoloac,
oc TO) 20 Lo\ Vo

a0y (3 Myoe O

1€ Hhe oo, heet Fpe B i conddind e thas,

One. DAk Lol v \eant hawe s \nave the

‘5‘3/\5“3‘9& TP \orowuse T o TP
07 Co-AOMINCAT



S. Dihybrid Crosses

1. What kinds of gametes would be produced by organisms having the following
genotypes?

a AZBB AR, A%, 0B, B

b.aaBB B ,ad ,ad,ad

AABB A, AD , AD, AB

i ABb AR, Av, a® ,ab

Adbdb A\, Ao , 0b yolo

AsBBCc AQC ,ABL | AR, ,Abe, LB, 0B, e, cBe
5 AR, ARe 0 BC, aBe

2. What would be the genotypes of the offspring in the following crosses?

2

o

=

a. AaBb x AABB b. AaBb x AaBb
AG Ab obd ab AR Ay ‘c& ol
e s [l [a8w At |Aasn|AAB. [Aabe|A
Mo (AABL|AAGY {\cB\:
o3 AebB [AcHojaclB (cBb
I U A (% \wlaaxs\o s
c. AABB x aabb d. AaBb x aabb
ab o oo AR Av 4B ab
Ao\ AR) AaBe A\ ailo]| 0o \w P T
M o\ -
AD — o
D o | \



3. In garden peas, axial

ower p%sition is dominant and terminal flower position is
recessive. Tall plants'are dominant to short?ﬂants. A plant that is known to be
purebred for tall vine and axial flowers is crossed with a plant having short vines
bearing terminal flower. What is the phenotype of the offspring? Predict the kinds of
offspring that would appear in the F, generation , using genotypic and phenotypic

ratios. :PL . "\"&,P\a..XTE Pi'c\
P, TTAA *thoo Th Vo 6A ke
' R e Te [TTA _”_Y_T_Q-_&_"'Jﬁ@f‘-ﬁ—a“
Py LA FeA&| LB [EERA LA
£a. Lo ITER e Teoc, W hoe ko

s\ ()*\'Qﬁp"‘“s ok P have
Tel vine. “oua) Plosess (1)

yreno= q’&h}«\‘- 3

Y\ ¢
AT M

4. In horses black color is dom%lant to chesfhut and pacer is dc;]qinant to trgher. Ifa

G5 e N

homozygous black trotter is mated to a homozygous chestnut pacer, what is the

phenotype and genotype of the offspring? Of an F, generation?

P, Bhtk % Tt

D, BTt xBblt

Preno

BY Bt LU vt
. O\ Ccomeo oF cach 9 Eact
LIRRNCT Pt RY [RRTT [RRTL [RLTT | ReTR| =
A<
- B [RBTE [Bubt [RUTE [Rotk| > ton
L bT [BWTT [RbTE [bbTT [bbTe | 3 it
phenc-1007 Rlackbocer bt IBbTE [Bitl [bbTh [bbtk] | drewnat
' g
5. Some dogs bark while others are silent when trailing. The barkir% characteristic is
due to a dominant gene. Erect ears are dominant to droopingfears. What kind of pups
would be expectedbfrom a mating between a heterozygous erect-eared barker and a
drooped-eared silent trailer?
D, RbEe X bhee. bbee —~>c>v\\:§0’\:m¢mms
\ %M‘ &'
F\- BE Re bE be
be &b&\%beclb\og-e Boee.
[ wh ) . %{ N —_ o
Preno 857 22 a5 g 1 53wy

% AR



CRCR:Rock

LA -
6. In cattle the polled condition (hornless) is dominant over the horned, and the C S L«)h‘\‘(.
heterozygous condition of red coat and white coat is roan. If a homozygous polled CREw. raan
white animal is bred to a horned red one, what will be the appearance of the F;? Of

the Fy? D, HWCRLE x HnCRew
P e x hnCeCR MC®  WC® ek hcw_|
Vi1 Do Perens only prodice HC® [BMCECH [WACE | HhCRCR KW ('
\ 24pc o gpivetns HCS (WA RO M R0 Hin (o
RE2 hC® [ 0% (MnCt{h CC% R
h C\?‘ \ \’\\\f\(‘,‘lcfh> ] &
2 IWWCRCY RN WA CRE [ e
D\'\eno . 6oy P;“‘c\ (homlesa) 3 Pollect reet 3 polect Lask! & Pollecl recn !
QN * | homack reed ¢ Lhorngel tome.! A her el reoin

7. In snapdragons red flower color (C¥) and white flower (CY) cause an intermediate
inheritance of pink when heterozygous. Normal (broad) leaves (L®) are non-
dominant to narrow (grasslike) leaves (L), the heterozygotes having leaves of
medium breadth. If a red-flowered, broad-leaved plant is crossed with a white-
flowered, narrow leaved one, what will be the phenotypes and their expected ratios in

the F, generation?
D, CRERLELE w(oeePLy

Fio Borh Porals ey produicsl
. o eoneirs .

ereepr .
418 [ (Rew 8L ]

Preno: 1007 Pink Mediom.

D, CUWLBL®  Cree[B]¥

338
W

Ce
by

Gy

o B

vl Rz

g b

CRCY SR

Uy

el

CROVSLY

(Ree 8

LR

g by

e

augdioly

CreoLel

Cuer LA

ey

Uy it g b

CRPLL

Lo

Cucul_» v

s

o
@\\0\‘\0 C o\ red Yorsact ! | feck Do 5 redeckiom | b broc.a | Ui reerow

Q LA Meckion &
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6. Sex-Linkage

1. One form of hemophilia in man is due to a recessive sex-linked gene. A man whose
father was hemophilic but has normal blood clotting himself marries a woman with
no record of hemophilia in her ancestry. What is the chance of hemophilia occurring

in their children?

YR Xy

No chcnce since frere is 0o
Cecosssive ollele !

2. A woman whose father was hemophilic but is not a bleeder herself marries a normal
man. What is the chance of hemophilia in their children?

NP x WY

3. Incats there is a gene for coat color which is codominant and sex-linked. There is
one gene for yellow and one for black, but the heterozygote has a peculiar mixture of

yellow and black which is called tortoise-shell. Xy Xy : t‘}t\m ¥® Xb: blac) XBX\.{ o

a. What type of kittens would be produced from a cross between a black female
and a yellow male?
N4 X B

Y Bxe YXV\I S m Q horbotse (\(\’Yb\ﬁs
X' [HEXs | YeN A VlackMeley

Y IR XY |

b. What kind of offspring would be expected from a cross of a black male and a

tortoise-shell female? What are the chances of getting a tortoise-shell female

from this cross?

XEXY x XY D D
NG \*5)(3 szi Yy = 02s=3S)

v ey by |




[N A
An albino, non-hemophilic mayhmarries a normally-pigmented, non-hemophilic
woman whose father was hemophilic and whose mother was an albino. What kind of

children could they have and in what ratio?
H "
oo XY 3 Ao KR You. con veduxe, the fedis o
AW AR aX*  axn "
‘j eles \M\-‘-‘s\\o v | QVono

&Y™ [ A ag Wit g R4 Y forhete + | nonhero

W W YH H\h HYH Hyh . .
OX" LA M B WY as M laa XH YR NMoles | gl . \ranale:dbibo | qine

oY Ae R B Y ae XRY Jon XY
Oy AR MARY [ea XY h

Baldness is a sex-linked trait. A non-bald man marries a non-bald woman. They
have a son and a daughter. At the age of 35 the son becomes bald. What are the

chances that the daughter will also become bald?

YB\{XXEXbPS&m\B

X"" \("]
E | yere e |
Y ey beyd L,

The male lion has a well-developed mane which the female does not have. How
could you account for this on a genetic basis?

- Possi b\3 RSN
= requires tolcness” ( edeteene)

5.

NOo ohenca o alochd d.a,ug\r\‘ccx \

6.



7. Pedigree Problems

1. In humans, the allele for normal hearing (H) is dominant over the recessive allele for
congenital (inherited) deafness (h). Use the figure to answer the following questions:

W ool recessive !
\l‘\b__\‘g\ Rode sex inked

»

1
N
v e @ﬁ@

v 23 o

a. How is it possible for the individual II - 5 to be congenitally deaf if neither
parent has the condition?

i P e orevers (herovgpd

b. What is the probability that the female, III - 1 will be congenitally deaf?
Assume that the person 1L - 1 is not a carrier of the trait.
~—

O/ 2 even it W2 \Dad) 1> G cosaler | \aeawse Mem s nok
O cartiex ; Tl caddl ‘o Wh or HW only.

2. For some people, the chemical PTC has a very definite taste. But others cannot taste
the chemical at all. Use the accompanying pedigree chart to try to determine which
trait is dominant. The shaded areas represent the offspring who can taste the chemical.
As well, determine as far as possible the genotype of the individual on the chart who

can taste PTC. Culbecme) Dominant
fe»etbcae\m-’io""‘-

Te &

T4 (J.S-u;éﬂ 5 Qr*'“_ét\ 7L Atk 1oMe

g B A B



3. For the pedigree shown below, which depicts the inheritance pattern of a recessive
sex-linked trait in humans (a) determine all genotypes that can be predicted with
absolute assurange. %

= |
i Q——ﬁl o O

d S .

x O—M *

z 3 L]
x & 6 mevr
\ 2 3 4 5

j Xaxes

4. For the following pedigree, predict the mode of inheritance and the resulting genotype
of each individual. Assume that the alleles “A” and “a” control the expression of the
trait.

aa B q_g_(ﬂé)

= { @/ wlm\
u &«M@j%

- \ﬂﬂ

W (-I)M C)N. A d)k Swes ‘\‘\’3"“’”’\""“

= tecessiva
3 ‘-G ‘3 A

Mode o \Wnaoulonce = Auioeome) recessive.
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5. The following pedigree is for myopia in humans. Predict if the disorder is inherited as
the result of a dominant or recessive allele. Determine the most probable genotype for

each individual based on your prediction.

Rt L&ﬁu&

=E X

(3 - downt
9~ recessve

NG Soxchcea recessive (more F'5Hhon s ane L)

Mode o iNhedence : Autvacmel recessive

6. Analyze the following pedigree. What is the most likely mode of inheritance? Defend
your answer by stating what information supports your answer and what information

rules out other potential modes.

1

2

g& W““"M es
T w«g -~ to oo doviaenl
(\nowe. nck Sean ik ok
s Xy U - o then Mot owhb

r SUHY Sm

e )

ow-s CU\'*\X.\\JMD@M
P g S
Scen bl \oefore -
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[ex-Wakecs. Looudad expenn
Wy ek all medes howe, e

Mode o Ianehionce = Sex- linked. Aominent)





